e Name:

" Order of Operations

Solve the equations.

1.5x12+8 x 8=

2. 50"‘102)(2: BIMDAS

3.(20+10) x 9 = Brackets
4 30+32 x 3 = Indices
Multiplication
D IXD+OIXT=_ pivision
6.49 -7 x 10 = Addition
7.(60 + 52} 32 = Subtraction
8.(20x3)+4x2-=
9.15x(20-15) =

10.4x4+5x10=

Worksheet 2




e Name:

" Order of Operations

Solve the equations.

1.5x12+8x8=124
2.50+10°% x 2 = 250
3.(20+10) x 9 =270
4,30+3%x3=5H7

B.7x5+5x7=70

6.49+7x10=70

7.(60+5%)+ 32 =94

8.(20x3)+4x2=68
9.15 x (20 - 15) = 75

10.4x4+5x10=66

Worksheet 2

BIMDAS

Brackets
Indices
Multiplication
Division
Addition

Subtraction




